FM: e F0H L Xtel ot
M ofd 2Xel K (AS
G HEgLReImg g= &

2 =3 (os: @9
_ _ 15
EH -3 -A(3H) - AEAMY - BES Ol &F 28 a&% Hws2
Of & ZOHQI Y X2l 19,912,430 19,943,278 ~30,848
= 12,431,748
b 176,163
= 7,304,519
4 LXel N (AMSI=X/2S - HSL0) 7,820,901 8,855,761 1,034,860
= 2,931,748
p 87,303
= 4,801,850
HEYRAY 22 L XY =D 7,820,901 8,855,761 A1,034,860
= 2,931,748
p] 87,303
= 4,801,850
MYHE NEeg(=2) 2,926,248 2,605,883 320,365
= 2,698,040
< 228,208
308 KX €I S0 & 2,926,248 2,605,883 320,365
= 2,698,040
= 228,208
01 XS HBA2ES 2,926,248 2,605,883 320,365
ONUINRSY TRIY 29 846,000
= 846,000
O M 0f & O E K| 995,400
= 948,000
< 47,400
OMUME 2YX 1,084,848
= 904,040
[ 180,808
2 BANSMRYSIIME NE 28 (21) 467,415 230,004 237,411
= 233,708
[ 233,707
308 XXl &M S0l & 467,415 230,004 237,411
= 233,708
= 233,707
1 ZII2SOITHE 2 A X 9 E AL 467,415 230,004 237,411
OV ZAGHMBUBIIME NN 2 467,415
= 233,708
< 233,707
MYHEH Js82 10,000 0 10,000
403 XISHMS K =0l & 10,000 0 10,000
01 X SH=2LEE 10,000 0 10,000
OSHMUME DEE IS2Y 10,000
ZYUSEWLFLNA (2 D) 87,303 84,274 3,029
p] 87,303
308 XX €I S0 & 87,303 84,274 3,029
p] 87,303
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A

O &0fereXtel ot

HE: o4 UXel NR(ME=X/ES - HEL0H)
CHelr GlHURAAY 22 U KB EX CEREE]
. SIE]
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
B EYEREES 87,303 84,274 3,029
oXSINYT2IY 29 87,303
| 87,303
YALHOLS PHBE N 3,725,000 5,314,900 1,589,900
201 Yut2 F Y| 30,000 30,000 0
01 AL 22l bl 30,000 30,000 0
0FALBOSES AHES N 30,000
202 018 2,000 2,000 0
NENEE 2,000 2,000 0
OFALTULS RHBS N 2,000
308 XX S S0/ ™ 3,693,000 5,282,000 1,589,000
01 HXSHBLRSES 3,693,000 5,282,000 1,589,000
OFALBOSYS PNES X 3,693,000
MHE ZAT M HA 95,880 35,880 60,000
308 XX A S0/ 95,880 35,880 60,000
01 HXESHBLRSES 75,840 35,880 39,960
OMYHE SAX HLHE X & 75,840
11 OISO HEZ & X SIS AL b 20,040 0 20,040
OMYME AKX HSME N 20,040
Gl TOje YX2AMY =X 8,000 8,000 0
201 Lur2 HH| 3,000 3,000 0
01 AbS 22l i 3,000 3,000 0
O0I4 - FOHO YXeIAY =X 3,000
202 01t 5,000 5,000 0
01 2LHOIHl 5,000 5,000 0
©0I4 - HOjOl UXt2IAY =X 5,000
GlHQANLME 2Y 341,055 309,820 31,235
308 XX SHH S0l 341,055 309,820 31,235
01 HASHBLRES 341,055 309,820 31,235
OO SoINLUE 2Y 341,055
GlHQI L ME JSEY 160,000 57,000 103,000
403 XA SIS X201 & 160,000 57,000 103,000
01 XS H A= E X 160,000 57,000 103,000
OO HANLHE IS 160,000
ZoHY 1B EX(ABZX/HAHESTEH) 12,069,680 11,065,668 1,004,012
2 9,500,000
| 83,860
= 2,480,820
ZojeI YR AY 2B L Y =X 12,069,680 11,065,668 1,004,012
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D HEEMUEX

fau)

el

D HM DE EX(MISX/FHAA
DM YXtel At 2= 2 XIE R
= _ d L5
SA BB (BH) - MSA Ofl &b i 52
= 9,500,000
J| 88,860
S 2,480,820
Zofol Uers 2dRxiel XA (=12) 6,229,200 5,552,378 676,822
= 5,191,000
< 1,038,200
308 XX S SO0l & 6,229,200 5,552,378 676,822
= 5,191,000
< 1,038,200
01 HXESHHILEXS 6,229,200 5,552,378 676,822
OZOe «etd LXtel XA 6,229,200
= 5,191,000
= 1,038,200
0RO AIZPH LXtel K& (=12) 1,456,800 1,134,648 322,152
= 1,214,000
& 242,800
308 AUXIEHSOIA 1,456,800 1,134,648 322,152
= 1,214,000
< 242,800
01 HXESHBILAEXS 1,456,800 1,134,648 322,152
OXOM AlIZLH & Xtel X 1,456,800
= 1,214,000
& 242,800
oo sXLXel NI (=1) 2,739,600 2,420,192 319,408
= 2,283,000
& 456,600
308 X EHSOIA 2,739,600 2,420,192 319,408
= 2,283,000
= 456,600
01 HXHHILEXS 2,739,600 2,420,192 319,408
oFoel =XLXtel X 2,739,600
= 2,283,000
= 456,600
AIZEROHOL OHOFAN T2 (2D) 732,900 649,379 83,521
= 698,000
= 34,900
308 X+l EH M S 01 & 732,900 649,379 83,521
= 698,000
< 34,900
01 HXESHBILAEXS 732,900 649,379 83,521
OAI2EZOHQI QFOFAF THA 732,900
= 698,000
= 34,900
LI LYEZS A BE(=1) 136,800 99,823 36,977
= 114,000
= 22,800
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SA T LR

fau)

el

Ha: ZOHQ D8 ST (AS=X/HAHSHR)
CHel: FOHOIYTIE A 22 Y XY =X CEEREE
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
308 XX SHH S0/ ™ 136,800 99,823 36,977
= 114,000
= 22,800
01 HXSHBLRBED 136,800 99,823 36,977
OULEME RUTSA A 136,800
2 114,000
= 22,800
EEF0Y NAYEE HAXN(2D) 106,380 55,248 51,132
bl 83,860
= 17,520
308 XX EHH S0/ 106,380 55,248 51,132
p] 88,860
= 17,520
B EYEREES 106,380 55,248 51,132
OEZHMH NAAEY HAX 106,380
I 83,860
& 17,520
ZOjQ DEEXHAS X 668,000 1,154,000 486,000
201 Lot gl 20,000 20,000 0
01 AL 22l bl 20,000 20,000 0
OB DEBEXFAZ N 20,000
308 XX SHH S0/ ™ 648,000 1,134,000 486,000
B EYEREES 648,000 1,134,000 486,000
OB DEEXFAZ N 648,000
S A B (01 A F 0Ol X2l ) (IIEH/IIEH) 21,849 21,849 0
S[EEE] 21,849 21,849 0
SHeY Jl=Hy 21,849 21,849 0
201 Yur2 HH| 15,087 15,087 0
01 AL 2 el bl 15,087 15,087 0
ORN2Y ARl 15,087
202 14| 3,762 3,762 0
01 =4 01bl 3,762 3,762 0
SN2Y U0l 3,762
203 PR = Y| 3,000 3,000 0
EVEE T EES 3,000 3,000 0
©150! 0I5t 250,0002 * 122 3,000
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